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Name: __________________________________



1
Given: [image: image1.png]BE



 and [image: image2.png]AD



 intersect at point C
[image: image3.png]



[image: image4.png]



[image: image5.png]AB



 and [image: image6.png]DE



 are drawn

Prove: [image: image7.png]MNABC = ADEC




[image: image8.png]




2
In the diagram below, [image: image9.png]MABE

OBD



.

[image: image10.png]



Prove: [image: image11.png]MAFD = ANCFE





3
In the diagram of [image: image12.png]MAMAH



 below, [image: image13.png]MH = AH



 and medians [image: image14.png]AB



 and [image: image15.png]MT



 are drawn.

Prove: [image: image16.png]ZMEBA

AT




[image: image17.png]




4
Given: [image: image18.png]MNARE



 and [image: image19.png]MNDFC



, [image: image20.png]ABCD



, [image: image21.png]AR || DF



, [image: image22.png]EB || FC



, [image: image23.png]



[image: image24.png]



Prove: [image: image25.png]MNEAB

FDC





5
Complete the partial proof below for the accompanying diagram by providing reasons for steps 3, 6, 8, and 9.

[image: image26.png]



Given: [image: image27.png]AFCD



, [image: image28.png]ABLBC



, [image: image29.png]DE | EF



, [image: image30.png]BC || FE



, [image: image31.png]



Prove: [image: image32.png]



	Statements
	Reasons

	1 [image: image33.png]AFCD




	1 Given

	2 [image: image34.png]ABLBC



, [image: image35.png]DE | EF




	2 Given

	3 [image: image36.png]/B



 and [image: image37.png]SR



 are right angles.
	3



	4 [image: image38.png]



	4 All right angles are congruent.

	5 [image: image39.png]BC || FE




	5 Given

	6 [image: image40.png]S BCA = LEFD




	6



	7 [image: image41.png]



	7 Given

	8 [image: image42.png]MABC = ADEF




	8

 

	9 [image: image43.png]



	9





6
Given: [image: image44.png]MABC



, [image: image45.png]ARC



, [image: image46.png]BDE



 with [image: image47.png]ZABR = L CBR



, and [image: image48.png]ZADE

CDE




Prove: [image: image49.png]BDE



 is the perpendicular bisector of [image: image50.png]AC




[image: image51.png]



Fill in the missing statement and reasons below.

	Statements
	Reasons

	1 [image: image52.png]MABC



, [image: image53.png]ARC



, [image: image54.png]BDE



 with [image: image55.png]ZABR = L CBR



, and [image: image56.png]ZADE

CDE




	1 Given

	2 [image: image57.png]



	2

	3 [image: image58.png]ZBDA



 and [image: image59.png]ZADE



 are supplementary.  [image: image60.png]L BDC



 and [image: image61.png]L DR



 are supplementary.
	3 Linear pairs of angles are supplementary.



	4 
	4 Supplements of congruent angles are congruent.

	5 [image: image62.png]AABD = ACBD




	5 ASA

	6 [image: image63.png]


, [image: image64.png]



	6



	7 [image: image65.png]BDE



 is the perpendicular bisector of [image: image66.png]AC



.
	7 





7
Given: [image: image67.png]MABC



, [image: image68.png]BD



 bisects [image: image69.png]ZABC



, [image: image70.png]BD 1 AC




Prove: [image: image71.png]



[image: image72.png]




8
Given:
[image: image73.png]AD



 bisects [image: image74.png]BC



 at E.


[image: image75.png]AB1 BC





[image: image76.png]nC 1 BC




Prove:
[image: image77.png]



[image: image78.png]




9
Given: [image: image79.png]MABC



 and [image: image80.png]MNEDC



, C is the midpoint of [image: image81.png]BD



 and [image: image82.png]AR




Prove: [image: image83.png]AB| DE




[image: image84.png]




10
Given:
[image: image85.png]


 and [image: image86.png]TV



 bisect each other at point X

[image: image87.png]TR



 and [image: image88.png]SV



 are drawn

[image: image89.png]



Prove: [image: image90.png]TR| 5V





11
Given:  [image: image91.png]MT



 and [image: image92.png]HA



 intersect at B, [image: image93.png]MA|| HT



, and [image: image94.png]MT



 bisects [image: image95.png]HA



.

[image: image96.png]





Prove: [image: image97.png]WA= HT






1
ANS:


[image: image98.png]BE



 and [image: image99.png]AD



 intersect at point C, [image: image100.png]


, [image: image101.png]


, [image: image102.png]AB



 and [image: image103.png]DE



 are drawn (Given).  [image: image104.png]L BCA = ZECD



 (Vertical Angles).  [image: image105.png]MNABC = ADEC



 (SAS).
REF:
011529ge

2
ANS:


[image: image106.png]MABE

OBD



 (given); [image: image107.png]


 (CPCTC);  [image: image108.png]ZAFD

OFRE



 (vertical angles are congruent);  [image: image109.png]


, [image: image110.png]


 (CPCTC);  [image: image111.png]


 (segment subtraction);  [image: image112.png]MAFD = ANCFE



 (AAS)
REF:
081933geo

3
ANS:


[image: image113.png]MAMAH



, [image: image114.png]MH = AH



 and medians [image: image115.png]AB



 and [image: image116.png]MT



 are given.  [image: image117.png]WA = AM



 (reflexive property).  [image: image118.png]MAMAH



 is an isosceles triangle (definition of isosceles triangle).  [image: image119.png]ZAMEB = ZMAT



 (isosceles triangle theorem).  B is the midpoint of [image: image120.png]NH



 and T is the midpoint of [image: image121.png]AH



 (definition of median).  [image: image122.png]


 and [image: image123.png]mAT = $maH



 (definition of midpoint).  [image: image124.png]MB= AT



 (multiplication postulate).  [image: image125.png]INATAM



 (SAS).  [image: image126.png]ZMEBA

AT



 (CPCTC).
REF:
061338ge

4
ANS:


[image: image127.png]MNARE



 and [image: image128.png]MNDFC



, [image: image129.png]ABCD



, [image: image130.png]AR || DF



, [image: image131.png]EB || FC



, [image: image132.png]


 (given); [image: image133.png]


 (Alternate interior angles formed by parallel lines and a transversal are congruent);  [image: image134.png]L REBA = ZFCD



 (Alternate exterior angles formed by parallel lines and a transversal are congruent); [image: image135.png]


 (reflexive); [image: image136.png]


 (segment subtraction); [image: image137.png]MNEAB

FDC



 (ASA)
REF:
012333geo

5
ANS:


3 Perpendicular line segments form right angles;  6 If two parallel lines are cut by a transversal, the alternate interior angles are congruent;  8 AAS;  9 CPCTC.  [image: image138.png]



REF:
060229b

6
ANS:


2  Reflexive;  4 [image: image139.png]ZBDA

‘BDC



;  6 CPCTC;  7 If points B and D are equidistant from the endpoints of [image: image140.png]AC



, then B and D are on the perpendicular bisector of [image: image141.png]AC



.
REF:
081832geo

7
ANS:


[image: image142.png]MABC



, [image: image143.png]BD



 bisects [image: image144.png]ZABC



, [image: image145.png]BD 1 AC



 (Given).  [image: image146.png]L OBD

"ABD



 (Definition of angle bisector).  [image: image147.png]


 (Reflexive property).  [image: image148.png]A oin);



 and [image: image149.png]ZADE



 are right angles (Definition of perpendicular).  [image: image150.png]ydoin):3

‘ADEB



 (All right angles are congruent).  [image: image151.png]MNADE



 (SAS).  [image: image152.png]


 (CPCTC).
REF:
081335ge

8
ANS:


[image: image153.png]/B



 and [image: image154.png]pao;



 are right angles because perpendicular lines form right angles.  [image: image155.png]


 because all right angles are congruent.  [image: image156.png]ZARB = L DEC



 because vertical angles are congruent.  [image: image157.png]MABE

DCR



 because of ASA.  [image: image158.png]


 because CPCTC.
REF:
061235ge

9
ANS:


[image: image159.png]


 and [image: image160.png]DC = BC



 because of the definition of midpoint.  [image: image161.png]ZACB = LECD



 because of vertical angles.  [image: image162.png]MNABC = AEDC



 because of SAS.  [image: image163.png]L DR

'BA



 because of CPCTC.  [image: image164.png]BD



 is a transversal intersecting [image: image165.png]AB



 and [image: image166.png]ED



.  Therefore [image: image167.png]AB| DE



 because [image: image168.png]L DR



 and [image: image169.png]ZCBA



 are congruent alternate interior angles.  [image: image170.png]D




REF:
060938ge

10
ANS:


[image: image171.png]


 and [image: image172.png]TV



 bisect each other at point X;  [image: image173.png]TR



 and [image: image174.png]SV



 are drawn (given); [image: image175.png]X



 and [image: image176.png]


 (segment bisectors create two congruent segments); [image: image177.png]LTXR = £ VXS



 (vertical angles are congruent);  [image: image178.png]


 (SAS);  [image: image179.png]


 (CPCTC); [image: image180.png]TR| 5V



 (a transversal that creates congruent alternate interior angles cuts parallel lines).
REF:
061733geo

11
ANS:


[image: image181.png]MT



 and [image: image182.png]HA



 intersect at B, [image: image183.png]MA|| HT



, and [image: image184.png]MT



 bisects [image: image185.png]HA



 (Given).  [image: image186.png]ZMEBA

TBH



 (Vertical Angles).  [image: image187.png]


 (Alternate Interior Angles).  [image: image188.png]


 (The bisection of a line segment creates two congruent segments).  [image: image189.png]AAA

ATHB



 (ASA).  [image: image190.png]WA= HT



 (CPCTC).
REF:
081435ge

